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@ 400° @440° ® 540° @ 6000  © 720°

27y o] W Z+o] k-2 540° o|tt,
w2tA zA + /B + £C + /D + (E + /F + /G = 540° 0| B2
(B + /C+ /D + (E + /F + £G = 440° ©]t},
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22. T8 J™oA sx 9] 37]|E Fotolet

wizre] z2719] gto] 180° o] B &

APBC oA x + O° + x° = 180° o]t}

AABC O Al 75° 4 40° + 15° + Q° + X° = 180° , O° + x° =
180° — (75° +40° +15°) = 180° —130° = 50° =, O° 4 X° = 50°
O] x4 50° = 180°

wjebA] x = 130° o]k,
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CA =BD = 4(cm)
AB = 10— (4 +4) = 2(cm)
CB = AD = 6(cm)

X 32 —nx22 =97 - 4n = 5r(cm?)




@ 127cm? @ 147 cm?
® 167 cm? @Y187 cm?
® 207 cm?

HESolgiREoR S7|H

ol
rir




27.
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HE ] B9 dol& ol 5t
1
(P& Hglo]) :nx12+§xzx2nx1 =2

YEo] A5 A= Fotee Aol x HH AT F2t & o,
2nx1=(2rx1)xx

L x=1 ")

l=1
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~~10cm-~
@® 70cm? @ 150cm? ® 280cm?
@35001113 ® 420cm?®
/
6cm K
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~~10cm-~
ZgHA O] Hul= 10 x 7 x 6 = 420(cm?)
e Uzt AR Hal= % X5 X10XTx6 = 70(cm?)
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T8 BgY EAARA A AP HolHdH
Mol BRI A & A B7] 1, 8712 Hol A Y
Hell g 744 AB70ct,
oebA f = ol wA S HAH ] AgolBR 12 A, s
gol HA o] W] ZjarolB g 20 7]t
HoZgol ZAHL 5 /K 12 A, &L FAHL 6 A4
20 7folal, ZF BRI L 3 A HAHAER
,_ B5x12+6x20
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EF oA nAEE 5x 12 (0), A84F Y nAE
6 x 12 (7)o]x, ZF BAE= 2 WE HARER
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